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QUESTION 181
Whenever afailover takes place on the ASA running in failover mode, all active connections are dropped and clients must
re-establish their connections unless

A. the ASA isconfigured for Active-Active failover

B. the ASA isconfigured for LAN-Based failover

C. the ASA isconfigured to use aserial cable asthe failover link

D. theASA isconfigured for Active-Standby failover and a state failover link has been configured
E. the ASA isconfigured for Active-Active failover and a state failover link has been configured
F. the ASA isconfigured for Active-Standby failover

Answer: DE

QUESTION 182

Y ou run the show ipv6 port-map telnet command and you see that the port 23 (system-defined) message and the port 223
(user-defined) message are displayed. Which command isin the router configuration?

A. ipv6 port-map port telnet 223

B. ipv6 port-map port 23 port 23223
C. ipv6 port-map telnet port 23 233
D. ipv6 port-map telnet port 223

Answer: D

QUESTION 183
Which statement in reference to |Pv6 multicast is true?

A. PIM dense modeis not part of 1Pv6 multicast.

B. Thefirst 12 bits of an IPv6 multicast address are always FF.

C. IPv6 multicast uses Multicast Listener Discovery (MLD).

D. [IPv6 multicast requires Multicast Source Discovery Protocol (MSDP).

Answer: C

QUESTION 184
What does qos pre-classify providesin regard to implementing QoS over GRE/IPSec VPN tunnels?

A. enables|OS to make acopy of theinner (original) IP header and to run a QoS classification before
encryption, based on fields in the inner | P header.

B. enables|OSto classify packets based on the ToSfield in the inner (original) IP header.

C. enables1OSto classify packets based on the ToS field in the outer tunnel 1P header.

D. enables|OSto copy the ToSfield from the inner (original) IP header to the outer tunel 1P header.
E. enablesthelOS classification engine to only see a single encrypted and tunneled flow to reduce
classification complexity.
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Answer: A

QUESTION 185
Which IOS QoS mechanism is used strictly to rate limit traffic destined to the router itself?

A. Single-Rate Policier.
B. Control Plane Paolicing
C. Dua-Rate Policier

D. Class-Based Policing
Answer: B

QUESTION 186

Which of the following statements are true regarding hashing?

A. SHA-256 isan extension to SHA-1 with alonger output

B. SHA-1lisstronger than MD5 because it can be used with akey to prevent modification
C. MD?5 takes more CPU cycles to compute than SHA-1

D. MD5 produces a 160-hit result

E. Changing 1 bit of the input to SHA-1 changes 1 bit of the output

Answer: AE

QUESTION 187

After aclient discovers a supportable wireless network, what is the correct sequence of operations that the client will taketo join it?

A. association, then authentication
B. authentication, then association
C. probe request, then association
D. authentication, then authorization
Answer: B

QUESTION 188

Which authentication scheme, that is supported on the Cisco ASA, generates a unique key that is used in a single password
challenge?

A. one-time passwords
B. disposable certificates
C. password management
D. Capchaweb text
Answer: A

QUESTION 189

Which label is advertised by an L SR to inform neighboring L SRs to perform the penultimate hop popping operation?

A. 0x00
B. php
C. swap
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D. push
E. imp-null

Answer: E

QUESTION 190
When the RSA algorithm is used for signing a message from Alice to Bob, which statement best describes that operation?

Alice signs the message with her private key, and Bob verifies that signature with Alice's public key.
Alice signs the message with her public key, and Bob verifies that signature with Alice's private key.
Alice signs the message with Bob's private key, and Bob verifies that signature with his public key.
Alice signs the message with Bob's public key, and Bob verifies that signature with his private key.
Alice signs the message with her public key, and Bab verifies that signature with his private key.
Alice signs the message with her private key, and Bob verifies that signature with his public key.
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Answer: A
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